FOUNDATIONS



Some generalizations of p-semisimple BCI algebras and groups

Andrzej Walendziak¹

Published online: 14 July 2020 © The Author(s) 2020

Abstract

We introduce and investigate the strong p-semisimple property for some generalizations of BCI algebras. For BCI algebras, the strong p-semisimple property is equivalent to the p-semisimple property. We describe the connections of strongly p-semisimple algebras and various generalizations of groups (such as, for example, involutive moons and goops). Moreover, we present some examples of proper strongly p-semisimple algebras.

Keywords RM, aRM, aRM**, BZ, BCI algebra · Moon · Goop · p-semisimplicity

1 Introduction

Iséki (1966) introduced BCI algebras as algebraic models of BCI-logic. Hu and Li (1983) defined BCH algebras, which are a generalization of BCI algebras. Later on, Ye (1991) introduced the notion of BZ algebras. It is known that BCI algebras are contained in the class of BZ algebras. Next, the new class of algebras called BH algebras was introduced by Jun et al. (1998). These algebras are a common generalization of BCH and BZ algebras (hence also a generalization of BCI algebras). Recently, Iorgulescu (2016) introduced new generalizations of BCI algebras such as aRM**, *aRM**, BCH** algebras, and many others. All of the algebras mentioned above are contained in the class of RM algebras (a RM algebra is an algebra $(A; \rightarrow, 1)$ of type (2, 0) satisfying the equations: $x \to x = 1$ and $1 \to x = x$). The implicative and commutative properties for some subclasses of the class of RM algebras were studied by Walendziak (2018, 2019). Lei and Xi (1985) defined p-semisimple BCI algebras and proved that p-semisimple BCI algebras are equivalent with abelian groups. The p-semisimple BCI algebras have been extensively investigated in many papers (for example Meng (1987), Hoo (1990), Aslam and Thaheem (1991), Zhang

Communicated by A. Di Nola.

Andrzej Walendziak walent@interia.pl

(1991), Kim and Park (2005)). Zhang and Ye (1995) showed that p-semisimple BZ algebras are equivalent with groups.

In this paper, we introduce the notion of strongly psemisimple RM algebra. For BZ and BCI algebras, the strong p-semisimple property is equivalent to the p-semisimple property. We describe the connections of strongly p-semisimple algebras and various generalizations of groups (such as, for example, involutive moons and goops, which were introduced by Iorgulescu (2018)). In particular, we prove that strongly p-semisimple RM algebras are equivalent with involutive moons. Moreover, we give some examples of proper strongly p-semisimple algebras.

2 Preliminaries

2.1 Generalizations of BCI algebras

Let $\mathcal{A} = (A; \rightarrow, 1)$ be an algebra of type (2, 0). We consider the following list of properties (cf. Iorgulescu 2016) that can be satisfied by \mathcal{A} :

(An) $x \to y = 1 = y \to x \Longrightarrow x = y$, (B) $(y \to z) \to [(x \to y) \to (x \to z)] = 1$, (BB) $(y \to z) \to [(z \to x) \to (y \to x)] = 1$, (D) $x \to ((x \to y) \to y) = 1$, (D1) $x \to ((x \to 1) \to 1) = 1$, (Ex) $x \to (y \to z) = y \to (x \to z)$, (M) $1 \to x = x$, (Re) $x \to x = 1$, (*) $y \to z = 1 \Longrightarrow (x \to y) \to (x \to z) = 1$,

¹ Faculty of Exact and Natural Sciences, Institute of Mathematics, Siedlce University of Natural Sciences and Humanities, 3 Maja 54, 08110 Siedlce, Poland

Lemma 2.1 (Iorgulescu 2016) Let $\mathcal{A} = (A; \rightarrow, 1)$ be an algebra of type (2, 0). Then the following hold:

(i) (Re) + (Ex) + (An) imply (M),
(ii) (M) + (B) imply (*) and (**),
(iii) (M) + (*) imply (Tr),
(iv) (M) + (**) imply (Tr),
(v) (M) + (BB) imply (B),
(vi) (Re) + (Ex) imply (D),
(vii) (Re) + (Ex) + (*) imply (BB),

- (viii) (M) + (BB) + (An) imply (ED),
- (ix) (Ex) + (B) imply (BB).

An algebra $\mathcal{A} = (A; \rightarrow, 1)$ is a *BCH algebra* if (Re), (Ex) and (An) are fulfilled, instead a BCH algebra \mathcal{A} is a *BCI algebra* if (B) holds. Additionally, an algebra \mathcal{A} is a *RM algebra* if (Re) and (M) hold. By Lemma 2.1(i), BCH and BCI algebras are particular cases of RM algebras.

Following Iorgulescu (2016), we say that a RM algebra \mathcal{A} is an *aRM algebra* if it satisfies (An). We note that aRM algebras are also called BH algebras [see, for example, Yu et al. (1999), Zhang et al. (2001), Jun et al. (2004)].

Now, we will define the following algebras (Iorgulescu 2016):

- An *aRM*** *algebra* is an aRM algebra satisfying (**).
- A *BCH** algebra is* a BCH algebra satisfying (**).
- An **aRM*** *algebra* is an aRM** algebra satisfying (*).
- An *aRM***(*D1*) *algebra* (resp. **aRM***(*D1*) *algebra*) is an aRM** algebra (resp. *aRM** algebra) satisfying (D1).
- A *BZ algebra* is an aRM algebra satisfying (B).

Let $\mathcal{A} = (A; \rightarrow, 1)$ be an algebra of type (2, 0). We define the binary relation \leq by: for all $x, y \in A$,

 $x \le y \iff x \to y = 1.$

In RM algebras, \leq is a reflexive relation; in aRM algebras, it is reflexive and antisymmetric. If \mathcal{A} is an aRM** algebra, then \leq is also transitive by Lemma 2.1(iv). Therefore, \leq is an order relation in aRM** algebras (hence also in aRM** (D1), *aRM**, *aRM**(D1), BZ, BCH**, and BCI algebras).

Lemma 2.2 Let $A = (A; \rightarrow, 1)$ be an algebra of type (2, 0). Then the following hold:

(i) $(Re) + (Ex) \Longrightarrow (D1)$, (ii) $(Re) + (M) + (B) \Longrightarrow (D1)$.



Fig. 1 The hierarchy between BCI and RM

Proof

- (i) This follows easily from Lemma 2.1(vi).
- (ii) Let $x \in A$. By (M), (B) and (Re),

 $x = 1 \rightarrow x \le (x \rightarrow 1) \rightarrow (x \rightarrow x) = (x \rightarrow 1) \rightarrow 1,$

that is,
$$(D1)$$
 is satisfied.

Denote by **RM**, **aRM**, **aRM****, **aRM****(**D1**), ***aRM****, ***aRM****(**D1**), **BZ**, **BCH****, and **BCI** the classes of RM, aRM, aRM**, aRM**(D1), *aRM**, *aRM**(D1), BZ, BCH**, and BCI algebras, respectively. From the definitions and Lemmas 2.1(ii) and 2.2(ii) it follows that

By Lemma 2.2(i), **BCH**^{**} \subset **aRM**^{**}(**D1**). The interrelationships between the classes of algebras mentioned before are visualized in Figure 1. (An arrow indicates proper inclusion, that is, if **X** and **Y** are classes of algebras, then **X** \longrightarrow **Y** means **X** \subset **Y**.)

2.2 Generalizations of groups

Iorgulescu (2018) introduced and studied new generalizations of groups such as moons, goops, and many others.

Definition 2.3 A *moon* is an algebra $\mathcal{G} = (G; \cdot, {}^{-1}, 1)$ of type (2, 1, 0) satisfying

(U)
$$x \cdot 1 = x = 1 \cdot x$$
,

(Iv) $x \cdot x^{-1} = 1 = x^{-1} \cdot x$. A moon is *involutive* if it satisfies (DN) $(x^{-1})^{-1} = x$.

A moon is *associative* if it satisfies

(Ass)
$$x \cdot (y \cdot z) = (x \cdot y) \cdot z$$
.
A moon is *commutative* if it satisfies
(Com) $x \cdot y = y \cdot x$.

Note that the associative moon is just the group.

Definition 2.4 (Iorgulescu 2018) A *goop* is an algebra $(G; \cdot, {}^{-1}, 1)$ of type (2, 1, 0) satisfying (U) and the following conditions:

(GP1) $y \cdot x^{-1} = 1 \iff x^{-1} \cdot y = 1,$ (GP2) $y \cdot x^{-1} = 1 \iff x = y.$

Proposition 2.5 An algebra $\mathcal{G} = (G; \cdot, {}^{-1}, 1)$ of type (2, 1, 0) is a goop if and only if it is an involutive moon satisfying

 $(GP) \quad y \cdot x^{-1} = 1 \Longrightarrow x = y.$

Proof Let \mathcal{G} be a goop. Observe that it satisfies (Iv). Indeed, let $x \in G$. We have

$$x = x \stackrel{\text{(GP2)}}{\Longleftrightarrow} x \cdot x^{-1} = 1 \stackrel{\text{(GP1)}}{\longleftrightarrow} x^{-1} \cdot x = 1.$$

Therefore, (Iv) holds. By (Iv), $(x^{-1})^{-1} \cdot x^{-1} = 1$. From (GP2) we conclude that $(x^{-1})^{-1} = x$. Thus \mathcal{G} is an involutive moon. By (GP2), it satisfies (GP).

Conversely, let \mathcal{G} satisfy (U), (Iv), (DN) and (GP). Let $x, y \in G$. To prove (GP1), we first assume that $y \cdot x^{-1} = 1$. By (GP), x = y. Then $x^{-1} \cdot y = x^{-1} \cdot x \stackrel{(Iv)}{=} 1$. Now suppose that $x^{-1} \cdot y = 1$. Therefore, $1 = x^{-1} \cdot y \stackrel{(DN)}{=} x^{-1} \cdot (y^{-1})^{-1}$. Applying (GP), we see that $x^{-1} = y^{-1}$. Hence $y \cdot x^{-1} = y \cdot y^{-1} = 1$. Consequently, (GP1) holds. Using (GP) and (Iv), we have (GP2). Thus, \mathcal{G} is a goop.

Definition 2.6 We say that an algebra $(G; \cdot, {}^{-1}, 1)$ of type (2, 1, 0) is a *weakly goop* if it is an involutive moon satisfying

(wGP) $y \cdot x^{-1} = 1 = x \cdot y^{-1} \Longrightarrow x = y.$

Example 2.7 The algebra $\mathcal{G} = (\{a, b, 1\}; \cdot, ^{-1}, 1)$, with

and $x^{-1} = x$ for $x \in \{a, b, 1\}$, is a weakly goop. Since $b \cdot a^{-1} = b \cdot a = 1$ and $a^{-1} \cdot b = a \cdot b = a \neq 1$, \mathcal{G} does not satisfy (GP1). Therefore, it is not a goop.

Let **involutive moon**, **weakly goop**, **goop**, **group**, and **abelian group** denote the class of all involutive moons, weakly goops, goops, groups, and abelian groups, respectively. From the definitions we obtain

involutive moon \subset weakly goop \subset goop \subset group \subset abelian group.

3 The (strong) p-semisimple property

3.1 p-semisimple and strongly p-semisimple algebras

Let $\mathcal{A} = (A; \rightarrow, 1)$ be an algebra of type (2, 0). Consider the following properties that can be satisfied by \mathcal{A} :

 $\begin{array}{l} (\text{p-s}) \ x \leq y \Longrightarrow x = y, \\ (\text{p-s1}) \ x \leq 1 \Longrightarrow x = 1, \\ (\text{D1=}) \ x = (x \rightarrow 1) \rightarrow 1, \\ (\text{PS}) \ (x \rightarrow 1) \rightarrow y = (y \rightarrow 1) \rightarrow x. \end{array}$

Note that, in Iorgulescu (2018), the concept of negation, $^{-1}$, is defined by $x^{-1} = x \rightarrow 1$, and hence

$$(D1 =) \iff (x^{-1})^{-1} = x$$
 and
 $(PS) \iff x^{-1} \to y = y^{-1} \to x$

Thus (D1=) is in fact the double negation property (DN) and (PS) is the property (pDNeg2), in the commutative case, from the book Iorgulescu (2018).

Remark that RM algebras satisfying (PS) were studied in Walendziak (2020).

First we present connections between the conditions in the above list.

Lemma 3.1 *If an algebra A verifies* (Re) *or* (M), *then* (D1=) *implies* (p-s1).

Proof The proof is immediate.
$$\Box$$

Proposition 3.2 If A is an aRM** algebra, then (p-s1) \iff (p-s).

Proof Let A be an aRM** algebra. Suppose that (p-s1) holds in A. Let $x, y \in A$ and $x \leq y$. By (**), $y \rightarrow x \leq x \rightarrow x =$ 1. Hence, using (p-s1), we have $y \rightarrow x = 1$, that is, $y \leq x$. From (An) we conclude that x = y. Thus (p-s) is satisfied. The converse is obvious.

Proposition 3.3 Let A be an $aRM^{**}(D1)$ algebra. Then

$$(p-s1) \iff (p-s) \iff (D1=).$$

Proof From Proposition 3.2 we see that $(p-s1) \iff (p-s)$. Let (p-s) hold and $x \in A$. By (D1), $x \le (x \to 1) \to 1$. Applying (p-s), we obtain (D1=). Suppose now that (D1=) holds. Let $x \le 1$. Then $x \to 1 = 1$, and hence $x = (x \to 1) \to 1 = 1 \to 1 = 1$. We thus get (p-s1).

Proposition 3.4 If A is a BCH** algebra, then

 $(p-s1) \iff (p-s) \iff (D1=) \iff (PS).$

Proof By definition and Lemma 2.1(vi), \mathcal{A} satisfies (An), (Re), (M), (Ex), (**), (D). Applying Proposition 3.3, we conclude that (p-s1) \iff (p-s) \iff (D1=).

(D1=) \implies (PS): We have $(y \rightarrow 1) \rightarrow x \stackrel{(D1=)}{=} (y \rightarrow 1) \rightarrow ((x \rightarrow 1) \rightarrow 1) \stackrel{(Ex)}{=} (x \rightarrow 1) \rightarrow ((y \rightarrow 1) \rightarrow 1) \stackrel{(D1=)}{=} (x \rightarrow 1) \rightarrow y.$

(PS) \implies (D1=): Putting y = 1 in (PS), and using (M), we obtain (D1=).

Definition 3.5 A RM algebra is called *p*-semisimple (strongly *p*-semisimple) if it satisfies (p-s1) (resp. (D1=)).

Note that from Lemma 3.1 it follows that every strongly p-semisimple RM algebra is p-semisimple.

Example 3.6 (Iorgulescu 2016) Consider the set $A = \{a, b, c, 1\}$ with the following table of \rightarrow :

- $\frac{\rightarrow a \ b \ c \ 1}{a \ 1 \ a \ a \ a}$
- b a 1 a a
- c | a a 1 a
- $1 \mid a \mid b \mid c \mid 1$

Properties (Re), (M), (An), (*), (**) (hence (Tr)), and (p-s) are satisfied. The algebra $\mathcal{A} = (A; \rightarrow, 1)$ does not satisfy (D1=). Therefore, \mathcal{A} is a p-semisimple *aRM** algebra that is not strongly p-semisimple.

From Proposition 3.3 we obtain

Corollary 3.7 For aRM**(D1) algebras (hence also for *aRM**(D1), BZ, BCH**, and BCI algebras), the strong *p*-semisimple property is equivalent to the *p*-semisimple property.

Proposition 3.8 Let $\mathcal{A} = (A; \rightarrow, 1)$ be an algebra of type (2, 0). The following are equivalent:

(i) A is a strongly p-semisimple aRM^{**} algebra,

(ii) A is a p-semisimple $aRM^{**}(D1)$ algebra,

(iii) A is a strongly p-semisimple *aRM** algebra,

(iv) A is a p-semisimple *aRM**(D1) algebra.

Proof (i) \Longrightarrow (ii) and (iii) \Longrightarrow (iv) are obvious.

(ii) \implies (iii): From Proposition 3.3 we conclude that \mathcal{A} verifies (p-s) and (D1=). Hence \mathcal{A} also verifies (*), and consequently it is a strongly p-semisimple *aRM** algebra.

 $(iv) \Longrightarrow (i)$: This follows from Proposition 3.3.

Denote by **strongly p-s-aRM**** the class of all strongly psemisimple aRM** algebras (= the class of all p-semisimple aRM**(D1) algebras = the class of all strongly p-semisimple *aRM** algebras = class of all p-semisimple *aRM**(D1) algebras).

Proposition 3.9 Let $\mathcal{A} = (A; \rightarrow, 1)$ be an algebra of type (2, 0). The following are equivalent:

(i) A is a p-semisimple BCH** algebra,

(ii) A is a p-semisimple BCI algebra.

Proof Let \mathcal{A} be a p-semisimple BCH** algebra. By Proposition 3.2, \mathcal{A} satisfies (p-s). From (p-s) we deduce that \mathcal{A} also satisfies (*). Applying Lemma 2.1(vii) and (v) we see that (B) holds in \mathcal{A} . Consequently, \mathcal{A} is a BCI algebra. The converse is obvious.

Denote by **p-s-BCI** the class of all p-semisimple BCI algebras (= the class of all p-semisimple BCH** algebras). Let **p-s-BZ** (resp. **strongly p-s-RM**, **strongly p-s-aRM**) denote the class of all p-semisimple BZ algebras (resp. strongly p-semisimple RM algebras, strongly p-semisimple aRM algebras).

3.2 Connections between RM algebras, moons and goops

In this subsection, we establish the connections between:

strongly p-semisimple RM algebras and involutive moons, strongly p-semisimple aRM algebras and weakly goops, strongly p-semisimple aRM** algebras and goops.

Let $\mathcal{A} = (A; \rightarrow, 1)$ be an algebra of type (2, 0). Define $\Phi(\mathcal{A}) = (A; \cdot, ^{-1}, 1)$ by: for all $x, y \in A, x \cdot y = (y \rightarrow 1) \rightarrow x$ and $x^{-1} = x \rightarrow 1$.

Let $\mathcal{G} = (G; \cdot, ^{-1}, 1)$ be an algebra of type (2, 1, 0). Define $\Psi(\mathcal{G}) = (G; \rightarrow, 1)$ by: for all $x, y \in G, x \rightarrow y = y \cdot x^{-1}$.

Theorem 3.10

- (i) Let $\mathcal{A} = (A; \rightarrow, 1)$ textitbe a strongly p-semisimple RM algebra. Then $\Phi(\mathcal{A}) = (A; \cdot, ^{-1}, 1)$ is an involutive moon.
- (ii) Let $\mathcal{G} = (G; \cdot, {}^{-1}, 1)$ be an involutive moon. Then $\Psi(\mathcal{G}) = (G; \rightarrow, 1)$ is a strongly p-semisimple RM algebra.

(iii) Given \mathcal{A} and \mathcal{G} as above we have $\Psi \Phi(\mathcal{A}) = \mathcal{A}$ and $\Phi \Psi(\mathcal{G}) = \mathcal{G}$.

Proof

(i) Let $x \in A$. By (M), $x \cdot 1 = (1 \rightarrow 1) \rightarrow x = x$. Applying (D1=), we get $1 \cdot x = (x \rightarrow 1) \rightarrow 1 = x$. Therefore, $\Phi(A)$ satisfies (U). From (D1=) and (Re) we obtain

$$x \cdot x^{-1} = ((x \to 1) \to 1) \to x = x \to x = 1$$
 and
 $x^{-1} \cdot x = (x \to 1) \to (x \to 1) = 1.$

Then (Iv) holds in $\Phi(\mathcal{A})$. Again using (D1=), we have (DN). Thus $\Phi(\mathcal{A})$ is an involutive moon.

(ii) Let $x \in G$. By (Iv), $x \to x = x \cdot x^{-1} = 1$, that is, (Re) holds in $\Psi(\mathcal{G})$. Applying (U) and (Iv), we get

$$1 \to x = x \cdot 1^{-1} = x \cdot (1 \cdot 1^{-1}) = x \cdot 1 = x$$

i.e., $\Psi(\mathcal{G})$ satisfies (M). Thus $\Psi(\mathcal{G})$ is a RM algebra. Since, by (U) and (DN), $(x \to 1) \to 1 = 1 \cdot (1 \cdot x^{-1})^{-1} = x$, it is strongly p-semisimple.

(iii) Suppose $\mathcal{A} = (A; \rightarrow, 1)$ is a strongly p-semisimple RM algebra and $x \in A$. Then with $\Phi(\mathcal{A}) = (A; \cdot, ^{-1}, 1)$ we have $x^{-1} = x \rightarrow 1$ and $y \cdot x^{-1} = y \cdot (x \rightarrow 1) = ((x \rightarrow 1) \rightarrow 1) \rightarrow y = x \rightarrow y$. Thus $\Psi \Phi(\mathcal{A}) = \mathcal{A}$.

Next suppose $\mathcal{G} = (G; \cdot, ^{-1}, 1)$ is an involutive moon. Then with $\Psi(\mathcal{G}) = (G; \rightarrow, 1)$ and $x, y \in G, x \rightarrow 1 = 1 \cdot x^{-1} = x^{-1}$ and $(y \rightarrow 1) \rightarrow x = y^{-1} \rightarrow x = x \cdot (y^{-1})^{-1} = x \cdot y$. Thus $\Phi \Psi(\mathcal{G}) = \mathcal{G}$.

Hence, by above Theorem 3.10, we have the equivalence

strongly p-s-RM \equiv involutive moon,

that is, the strongly p-semisimple RM algebras are term equivalent to the involutive moons.

Theorem 3.11

- (i) Let $\mathcal{A} = (A; \rightarrow, 1)$ be a strongly p-semisimple aRM algebra (aRM** algebra). Then $\Phi(\mathcal{A}) = (A; \cdot, ^{-1}, 1)$ is a weakly goop (goop, respectively).
- (ii) Let $\mathcal{G} = (G; \cdot, ^{-1}, 1)$ be a weakly goop (goop). Then $\Psi(\mathcal{G}) = (G; \rightarrow, 1)$ is a strongly p-semisimple aRM algebra (aRM** algebra, respectively).
- (iii) Given A and G as above we have $\Psi \Phi(A) = A$ and $\Phi \Psi(G) = G$.

Proof

- (i) Let A be a strongly p-semisimple aRM algebra. By Theorem 3.10, Φ(A) is an involutive moon. Let x, y ∈ A and suppose that y ⋅ x⁻¹ = 1 = x ⋅ y⁻¹. Hence x ≤ y and y ≤ x. Therefore x = y by (An). Then (wGP) holds in Φ(A), that is, Φ(A) is a weakly goop. Let now A be a strongly p-semisimple aRM** algebra. Then A satisfies (p-s1), and also (p-s) by Proposition 3.2. Let y ⋅ x⁻¹ = 1, and hence x ≤ y. From (p-s) it follows that x = y. Consequently, (GP) holds in Φ(A), that is, Φ(A) is a goop by Proposition 2.5.
- (ii) Let G be a weakly goop. By Theorem 3.10, Ψ(G) is a strongly p-semisimple RM algebra. From (wGP) we deduce that (An) holds in Ψ(G). Thus Ψ(G) is a strongly p-semisimple aRM algebra.
 Let now G be a goop. From (GP) it follows that (p-s) holds in Ψ(G). Hence, obviously, Ψ(G) satisfies (**). Thus Ψ(G) is a strongly p-semisimple aRM** algebra.
- (iii) See the proof of Theorem 3.10(iii).

Hence, by above Theorem 3.11, we have the equivalences:

strongly p-s-aRM \equiv weakly goop, strongly p-s-aRM** \equiv goop,

that is, the strongly p-semisimple aRM algebras are term equivalent to the weakly goops and the strongly p-semisimple aRM** algebras are term equivalent to the goops.

Theorem 3.12 (Walendziak 2020) If $\mathcal{A} = (A; \rightarrow, 1)$ is a RM algebra satisfying (PS), then $\Phi(\mathcal{A}) = (A; \cdot, ^{-1}, 1)$ is a commutative involutive moon. Conversely, if $\mathcal{G} = (G; \cdot, ^{-1}, 1)$ is a commutative involutive moon, then $\Psi(\mathcal{G}) = (G; \rightarrow, 1)$ is a RM algebra with (PS).

Theorem 3.13 (Walendziak 2020) If $\mathcal{A} = (A; \rightarrow, 1)$ is an aRM algebra (*aRM** algebra) satisfying (PS), then $\Phi(\mathcal{A}) = (A; \cdot, ^{-1}, 1)$ is a commutative weakly goop (commutative goop, respectively). If $\mathcal{G} = (G; \cdot, ^{-1}, 1)$ is a commutative weakly goop (commutative goop), then $\Psi(\mathcal{G}) =$ $(G; \rightarrow, 1)$ is an aRM algebra (*aRM** algebra, respectively) with (PS).

From Theorems 3.12 and 3.13 it follows that the RM algebras with (PS) are term equivalent to the commutative involutive moons, the aRM algebras with (PS) are term equivalent to the commutative weakly goops, and the *aRM** algebras with (PS) are term equivalent to the commutative goops.

Theorem 3.14 (Zhang and Ye 1995) If $\mathcal{A} = (A; \rightarrow, 1)$ is a p-semisimple BZ algebra, then $\Phi(\mathcal{A}) = (A; \cdot, ^{-1}, 1)$ is a group. Conversely, if $\mathcal{G} = (G; \cdot, ^{-1}, 1)$ is a group, then $\Psi(\mathcal{G}) = (G; \rightarrow, 1)$ is a p-semisimple BZ algebra.

Theorem 3.15 (Lei and Xi 1985) If $\mathcal{A} = (A; \rightarrow, 1)$ is a *p*-semisimple BCI algebra (or, equivalently, *p*-semisimple BCH** algebra), then $\Phi(\mathcal{A}) = (A; \cdot, ^{-1}, 1)$ is an abelian group. Conversely, if $\mathcal{G} = (G; \cdot, ^{-1}, 1)$ is an abelian group, then $\Psi(\mathcal{G}) = (G; \rightarrow, 1)$ is a *p*-semisimple BCI algebra.

From Theorems 3.14 and 3.15 we see that

 $p-s-BZ \equiv group$ and $p-s-BCI \equiv abelian group$,

that is, the p-semisimple BZ algebras are term equivalent to the groups and the p-semisimple BCI algebras are term equivalent to the abelian groups.

4 Examples of proper strongly p-semisimple algebras

Definition 4.1

- P1. A proper strongly p-semisimple RM algebra is a strongly p-semisimple RM algebra (i.e., verifying (Re), (M), (D1=)) not verifying (An), (Ex), (Tr) (hence not (B), (BB), (*), (**), by Lemma 2.1(ii)–(v)).
- P2. A proper strongly p-semisimple aRM algebra is a strongly p-semisimple aRM algebra (i.e., verifying (An), (Re), (M), (D1=)) not verifying (Ex), (Tr) (hence not (B), (BB), (*), (**)).
- P3. A proper strongly p-semisimple aRM** algebra is a strongly p-semisimple aRM** algebra (i.e., verifying (An), (Re), (M), (**), (*), (Tr), (D1=)) not verifying (B), (Ex) (hence not (BB), by Lemma 2.1 (viii)).
- P4. A *proper p-semisimple BZ algebra* is a p-semisimple BZ algebra (i.e., verifying (An), (Re), (M), (B), (*), (**), (Tr), (D1=)) not verifying (BB) (hence not (Ex), by Lemma 2.1(ix)).

Example 4.2 Consider the set $A = \{a, b, c, 1\}$ and the operation \rightarrow given by the following table:

We can observe that the properties (Re), (M), and (D1=) (hence (p-s1)) are satisfied; (An) is not satisfied for (x, y) = (a, b); (Ex) and (Tr) are not satisfied for (x, y, z) = (c, a, b). Hence, $(A; \rightarrow, 1)$ is a proper strongly p-semisimple RM algebra. **Example 4.3** Consider the set $A = \{a, b, c, 1\}$ with the following table of \rightarrow :

$$\begin{array}{c|c} \rightarrow & a \ b \ c \ 1 \\ \hline a & 1 \ 1 \ b \ a \\ b & c \ 1 \ c \ b \\ c & 1 \ b \ 1 \ c \\ 1 & a \ b \ c \ 1 \end{array}$$

The algebra $\mathcal{A} = (A; \rightarrow, 1)$ satisfies properties (An), (Re), (M), and (D1=) (hence (p-s1)). It does not satisfy (Ex) and (Tr) for (x, y, z) = (c, a, b). Then \mathcal{A} is a proper strongly p-semisimple aRM algebra.

Example 4.4 Let $A = \{a, b, 1\}$ and \rightarrow be defined as follows:

 $\begin{array}{c|c} \rightarrow a \ b \ 1 \\ \hline a & 1 \ a \ a \\ b & b \ 1 \ b \\ 1 & a \ b \ 1 \end{array}$

It is easy to see that the properties (An), (Re), (M), (*), (**), (Tr), and (D1=) (hence (p-s1) and (p-s)) are satisfied; (B) and (Ex) are not satisfied for (x, y, z) = (a, b, 1). Hence, $(A; \rightarrow, 1)$ is a proper strongly p-semisimple aRM** algebra.

Example 4.5 Consider the set $A = \{a, b, c, d, e, 1\}$ and the operation \rightarrow given by the following table:

\rightarrow	abcde	1
a	1 <i>d e b c</i>	a
b	e 1 d c a	b
С	d e 1 a b	c .
d	b c a 1 d	е
е	<i>c a b e 1</i>	d
1	abcde	1

Then the properties (An), (Re), (M), (B) (hence (*), (**), (Tr)), (p-s1) (hence (p-s), (D1=)) are satisfied. (BB) is not satisfied for (x, y, z) = (a, d, c). Therefore, $(A; \rightarrow, 1)$ is a proper p-semisimple BZ algebra.

Acknowledgements The author would like to thank the referee for the valuable suggestions and comments.

Compliance with ethical standards

Conflict of interest The author declares that he has no conflict of interest.

Human and animal rights This article does not contain any studies with human or animal participants performed by the author.

Open Access This article is licensed under a Creative Commons Attribution 4.0 International License, which permits use, sharing, adaptation, distribution and reproduction in any medium or format, as

long as you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons licence, and indicate if changes were made. The images or other third party material in this article are included in the article's Creative Commons licence, unless indicated otherwise in a credit line to the material. If material is not included in the article's Creative Commons licence and your intended use is not permitted by statutory regulation or exceeds the permitted use, you will need to obtain permission directly from the copyright holder. To view a copy of this licence, visit http://creativecommons.org/licenses/by/4.0/.

References

- Aslam M, Thaheem AB (1991) A note on p-semisimple BCI-algebras. Math Jpn 36:39–45
- Hoo CS (1990) Closed ideals and p-semisimple BCI-algebras. Math Jpn 35:1103–1112
- Hu QP, Li X (1983) On BCH-algebras. Math Semin. Notes 11:313-320
- Iorgulescu A (2016) New generalizations of BCI, BCK and Hilbert algebras—Parts I, II. J Mult Valued Logic Soft Comput 27(353– 406):407–456
- Iorgulescu A (2018) Implicative-groups versus groups and generalizations. Matrix Rom, Bucureşti
- Iséki K (1966) An algebra related with a propositional calculus. Proc Jpn Acad 42:26–29
- Jun YB, Kim HS, Kondo M (2004) On BH-relations in BH-algebras. Sci Math Jpn 59:31–34
- Jun YB, Roh EH, Kim HS (1998) On BH-algebras. Sci Math Jpn 1:347– 354

Kim HS, Park HG (2005) On 0-commutative B-algebras. Sci Math Jpn 18:31–36

Lei T, Xi C (1985) p-radical in BCI-algebras. Math Jpn 30:511-517

- Meng DJ (1987) BCI-algebras and abelian groups. Math Jpn 32:693–696
- Walendziak A (2018) The implicative property for some generalizations of BCK algebras. J Mult Valued Logic Soft Comput 31:591–611
- Walendziak A (2019) The property of commutativity for some generalizations of BCK algebras. Soft Comput 23:7505–7511. https:// doi.org/10.1007/s00500-018-03691-9
- Walendziak A (2020) RM algebras and commutative moons. Int Electron J Algebra 28, in print
- Ye R (1991) On BZ algebras. Selected paper on BCI/BCK-algebras and Computer Logics. Shaghai Jiaotong University Press, Shaghai, pp 25–27
- Yu QG, Jun YB, Roh EH (1999) Special subsets in BH-algebras. Sci Math 2:311–314
- Zhang Q (1991) Some other characterizations of p -semisimple BCIalgebras. Math Jpn 36:815–817
- Zhang Q, Jun YB, Roh EH (2001) On the branch of BH-algebras. Sci Math Jpn 54:363–367
- Zhang X, Ye R (1995) BZ-algebra and group. J Math Phys Sci 29:223– 233

Publisher's Note Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.